REVERSE PAYROLL INTERFACE DEMONSTRATION

Requires two calculators and two participants from the class.

First scenario:

Set one calculator to 800 and the other to zero. Don’t let the class know that the hours are different on the two calculators.   Explain that the timekeepers are inputting the time and attendance information (such as hours worked for intermittents and LWOP hours) into DCPS.  The information flows electronically from DCPS to DCPDS.  Each pay period the new information flows.  Have one participant add 80 LWOP hours to the calculator with 800; have the other add 80 LWOP hours.  Ask the participants to tell the class how many hours are on the on the calculators (one has 880 one only has 80).  Ask the class what could have caused the discrepancy.  Explain that when the electronic payroll interface was initiated, only new LWOP hours were sent to DCPDS.  All LWOP hours existing prior to the beginning of the electronic interface were not included in the first interface flow (there can only be 80 hours each pay period flowing from DCPS).  If the personnel office did not gather the number of LWOP hours and input them manually into DCPDS, the two systems started off with mismatched numbers.  Depending on the step the employee was in at the time of electronic interface, there still may be employees with erroneous hours in DCPDS.

Second scenario:

Start each calculator with zero.  Indicate that the timekeeper has entered 80 hours of LWOP for the current pay period.  Explain that the hours cannot be sent to DCPDS until AFTER the pay period ends (the entire time period must be over before the total amount of hours can be recorded by the timekeeper).  Explain that when the hours electronically flow, they are received in DCPDS on the second Tuesday after the ending of the pay period.  If they reject in the electronic flow (e.g., there is no Date Within-Grade –Due Date to modify, or the employee has resigned in the meantime), the hours never get to DCPDS.  In any case, the hours are never received in DCPDS until  AFTER the beginning of the next pay period.  This means that personnel actions effective the next pay period may already be effected and may have to be corrected or changed based on the timekeeping.  For example, a Within-grade Increase may have to be cancelled and delayed another pay period if the LWOP hours received for the previous pay period delay the WIGI due date.  Reverse Interface reports help to avoid this situation.

Third scenario:

Set both calculators to 400 LWOP hours.  This example involves a person who has had 400 LWOP hours as a GS-5 step 1.  The employee gets temporarily promoted to a GS-7 step 1.  This changes the date of last equivalent step increase and zeroes out all LWOP hours (in both DCPDS and DCPS).  Have the calculators set at zero.  If the employee is changed to lower grade later, the LWOP hours that should be considered when determining the date the WIGI is due are no longer in either automated system.  The workaround for this issue is described in Chapter 6 of the DCPDS Users’ Manual regarding how to process Temporary Promotions.  The Date Wigi Due (DIN M0O), the LWOP hours (DIN MYG) and the Date of Last Equivalent Increase (DIN S1F) should be printed out BEFORE processing the temporary promotion.  This information can be used at the time of the change to lower grade to reset the information to the appropriate values in DCPDS.  This LWOP information does NOT flow electronically to DCPS so manual intervention by the pay technician is required.  Have the DCPDS calculator set to 400 with the DCPS left at zero until the pay technician corrects the discrepancy.  Note:  the only reverse interface DINs that also flow electronically from DCPDS to DCPS are Salary left to Earn (DIN M0H); Hours Left to work (DIN J4C);  and Intermittent Hours SCD (DIN M1C).  All of these must be input using PTI COR for successful electronic flow to payroll.

Fourth Scenario:

Set both calculators to 400 LWOP hours.  In this example, the employee’s Date WIGI Due was set erroneously using a waiting period of three years—it should have been two years.  When the DCPDS database is reset to the appropriate Date WIGI due date (DIN M0O) , DCPDS also requires input of  Date Last Equivalent Step Increase (DIN S1F) and Effective Date of Action (DIN Q0J).  This flows an electronic record to DCPS with NOAC S1F.  LWOP hours must also be checked to ensure that the number of LWOP hours are accurate for the new timeframe.  If  new amount of LWOP hours are required, DCPS will automatically update it if the information is on-line (within 26 pay periods).  If it is NOT on-line, the pay technician must manually adjust the LWOP hours.

Note:   if the M0O is past due, the 893 will be generated with the effective date following Dt-Wigi-Due which will change the LWOP hours to zero.
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